
 


ⱱ 


𝑑[𝑁𝑂]

𝑑𝑡
=  −𝑘ଵ · [𝑁𝑂] · [𝑂ଷ] − 𝑘ଶ · [𝑁𝑂] · [𝐻𝑂ଶ] +  𝐽ேைమ

·  [𝑁𝑂ଶ]

𝑑[𝑂ଷ]

𝑑𝑡
=  −𝑘ଵ · [𝑁𝑂] · [𝑂ଷ] + 𝑘ଷ · [𝑂] · [𝑂ଶ] · [𝑀]

𝑑[𝑁𝑂ଶ]

𝑑𝑡
=  −

𝑑[𝑁𝑂]

𝑑𝑡
= 𝑘ଵ · [𝑁𝑂] · [𝑂ଷ] + 𝑘ଶ · [𝑁𝑂] · [𝑂𝐻ଶ] −  𝐽ேைమ

·  [𝑁𝑂ଶ]

𝑑[𝐻𝑂ଶ]

𝑑𝑡
= − 𝑘ଶ · [𝑁𝑂] · [𝐻𝑂ଶ]

𝑑[𝑂𝐻]

𝑑𝑡
=  𝑘ଶ · [𝑁𝑂] · [𝐻𝑂ଶ]

𝑑[𝑂]

𝑑𝑡
=  𝐽ேைమ

·  [𝑁𝑂ଶ] −  𝑘ଷ · [𝑂] · [𝑂ଶ] · [𝑀

𝑑[𝑁𝑂]

𝑑𝑡
=  −𝑘ଵ · [𝑁𝑂] · [𝑂ଷ] − 𝑘ଶ · [𝑁𝑂] · [𝑂𝐻ଶ] +  𝐽ேைమ

·  [𝑁𝑂ଶ] = 0 

[𝐻𝑂ଶ] ≈ 0

[𝐎𝟑] =
J୒୓మ

·  [NOଶ]

kଵ · [NO]



5 𝑘𝑚

0,4 ·  10ିହ𝑘𝑚 · 𝑠ିଵ
= 12,5 · 10ହ 𝑠 = 14,47 𝑒𝑔𝑢𝑛

 𝐋𝐨𝐬𝐜𝐡𝐦𝐢𝐝𝐭 − 𝐞𝐧 𝐳𝐞𝐧𝐛𝐚𝐤𝐢𝐚, 𝟏𝐚𝐭𝐦 𝐞𝐭𝐚 𝟐𝟖𝟖 𝐊,

= 6,023 · 10ଶଷ𝑚𝑜𝑙𝑒𝑘𝑢𝑙𝑎 · 𝑚𝑜𝑙ିଵ

·  
1 𝑎𝑡𝑚

0,082 𝑎𝑡𝑚 · 𝐿 · 𝑚𝑜𝑙ିଵ · 𝐾ିଵ · 288 𝐾ିଵ
 ·  

1 𝐿

10 𝑐𝑚ିଷ

= 𝟐, 𝟓𝟓 · 𝟏𝟎𝟏𝟗𝒎𝒐𝒍𝒆𝒌𝒖𝒍𝒂 · 𝒄𝒎ି𝟑

𝐶𝐻ସ] 𝟐, 𝟓𝟓 · 𝟏𝟎𝟏𝟗𝒎𝒐𝒍𝒆𝒌𝒖𝒍𝒂 · 𝒄𝒎ି𝟑 molekula · cmିଷ

−
𝑑[𝐶𝐻ସ]

𝑑𝑡
=  𝑘 · [𝐶𝐻ସ] · [𝑂𝐻]

=  

= 

−
ୢ[େୌర]

ୢ୲
=

−
ௗ[஼ுర]

ௗ௧
= ଵ଴య ௖௠య

ଵ௅
 ·  

ଵ଺ ௚ ஼ுర

ଵ ௠௢௟

ଵ ௠௢௟

଺,଴ଶଷ·ଵ଴మయ ௠௢௟௘௞௨௟௔

−
ௗ[஼ுర]

ௗ௧
=



−
ௗ[஼ுర]

ௗ௧
= 5 · 10ଶଵ𝑔 ·

ଵ ௠௢௟

ଶଽ ௚
 ·  

ଶଷ,଺ଵ଺ ௅

ଵ ௠௢௟

ଵ ்௚ 

ଵ଴భమ ௚

−
ௗ[஼ுర]

ௗ௧
=

−
ௗ[஼ఱுఴ]

ௗ௧
= 

−
ௗ[஼ఱுఴ]

ௗ௧
= 

ସ,଻·ଵ଴ల௠௢௟௘௞௨௟௔௖௠షయ·௦షభ

ଵ·ଵ଴షభబ௖௠య·௠௢௟௘௞௨௟௔షభ·௦షభ· ହ,ଽ·ଵ଴భబ௠௢௟௘௞௨௟௔·௖௠షయ

𝐋𝐨𝐬𝐜𝐡𝐦𝐢𝐝𝐭 − 𝐞𝐧 𝐳𝐞𝐧𝐛𝐚𝐤𝐢𝐚, 𝟏𝐚𝐭𝐦 𝐲 𝟐𝟗𝟖 𝐊,

= 6,023 · 10ଶଷ𝑚𝑜𝑙𝑒𝑘𝑢𝑙𝑎 · 𝑚𝑜𝑙ିଵ

·  
1 𝑎𝑡𝑚

0,082 𝑎𝑡𝑚 · 𝐿 · 𝑚𝑜𝑙ିଵ · 𝐾ିଵ · 298 𝐾ିଵ
 ·  

1 𝐿

10 𝑐𝑚ିଷ

= 𝟐, 𝟒𝟔 · 𝟏𝟎𝟏𝟗𝒎𝒐𝒍𝒆𝒌𝒖𝒍𝒂 · 𝒄𝒎ି𝟑

଻,ଽ଻·ଵ଴ఱ௠௢௟௘௞௨௟௔·௖௠షయ

ଶ,ସ଺·ଵ଴భవ௠௢௟௘௞௨௟௔·௖௠షయ

−
ௗ[஼ఱுఴ]

ௗ௧
= 

−
ௗ[஼ఱுఴ]

ௗ௧
= 

ଶ,଴·ଵ଴ల௠௢௟௘௞௨௟௔·௖௠షయ·௦షభ

ଵ,ଶ·ଵ଴షభ ௖௠య·௠௢௟௘௞௨௟௔షభ·௦షభ· ହ,ଽ·ଵ଴భబ௠௢௟é௖௨௟௔௦·௖௠షయ



ଶ,଼ଶ·ଵ଴భమ௠௢௟௘௞௨௟௔·௖௠షయ

ଶ,ସ଺·ଵ଴భవ௠௢௟௘௞௨௟௔·௖௠షయ

𝐋𝐨𝐬𝐜𝐡𝐦𝐢𝐝𝐭 − 𝐞𝐧 𝐳𝐞𝐧𝐛𝐚𝐤𝐢𝐚, 𝟏𝐚𝐭𝐦 𝐞𝐭𝐚 𝟑𝟎𝟎 𝐊,

= 6,023 · 10ଶଷ𝑚𝑜𝑙𝑒𝑘𝑢𝑙𝑎 · 𝑚𝑜𝑙ିଵ

·  
1 𝑎𝑡𝑚

0,082 𝑎𝑡𝑚 · 𝐿 · 𝑚𝑜𝑙ିଵ · 𝐾ିଵ · 300 𝐾ିଵ
 ·  

1 𝐿

10 𝑐𝑚ିଷ

= 𝟐, 𝟒𝟓 · 𝟏𝟎𝟏𝟗𝒎𝒐𝒍𝒆𝒌𝒖𝒍𝒂 · 𝒄𝒎ି𝟑

→

ௗ[ேைమ]

ௗ௧
= 

ௗ[ேைమ]

ௗ௧
= 

→

ଵ

ଶ
·

ௗ[ேைమ]

ௗ௧
=



ௗ[ேைమ]

ௗ௧
= 

→
ௗ[ேைమ]

ௗ௧
= 

→
ௗ[ேைమ]

ௗ௧
= 

 


